Chapter 7

Long-Lived Assets and Investments in Marketable Securities

Questions for Review and Discussion

  1.
Capital assets are nonfinancial resources. They are excluded from governmental funds because the measurement focus of governmental funds is upon financial resources. Therefore, in governmental funds, the costs of capital assets are reported as expenditures when the assets are acquired rather than first capitalized as assets and subsequently written-off as the assets are consumed.

  2.
At one time the GASB required governments to capitalize interest on projects that they constructed.  However, GASB Statement No. 34 now specifies that interest on general long-term liabilities should be accounted for as an indirect expense, rather than being attributed to specific functions or programs, such as public works.  Therefore, interest would be reported as an expenditure on the capital project fund statement of revenues and expenditures and changes in fund balance and as an expense in the government-wide statement of activities.

  3.
In their government-wide financial statements, governments report assets just as a business would. That is, on their statements of activities they report an annual expense for depreciation; on their statements of net assets they report their assets at historical cost less accumulated depreciation.

  4.
Although the GASB encourages governments to capitalize their collectibles, it gives them the option of not doing so if certain conditions are satisfied. These conditions include the requirement that the assets be used for public exhibition or research rather than fiscal gain and that proceeds from their sale be used only to acquire other items for collections.

  5.
If a government satisfies certain conditions, mainly that it preserves its infrastructure at a specified level, then it need not charge depreciation.

  6.
Many government officials have objected to Statement No. 34’s infrastructure provisions because they believe that:

· there is no reason to capitalize infrastructure assets since they can neither be sold nor stolen

· the values attached to infrastructure assets are not meaningful and are not useful in assessing the efficiency and effectiveness with which they are used (e.g., they are not expected to generate a return so that return on investment ratios are of no significance)

· the data would not be useful to statement users; the costs to maintain the required accounting records far exceeds any benefits.

  7.
The information is, many believe, inadequate to facilitate decisions such as whether assets should be sold or replaced, whether they are being used efficiently, whether the city is maintaining its asset base and whether the assets are being adequately insured. For these decisions, they believe, data on market values are necessary.

  8.
A repurchase agreement (referred to as a “repo”) is a short-term investment in which an investor (a lender) transfers cash to a broker-dealer or other financial institution in exchange for securities. The broker-dealer or other financial institution promises to repay the cash plus interest in exchange for the same (or in some cases different) securities.


The major risk to the government from a repurchase transaction is that the broker-dealer will be unable to repay the cash and either that the government will be unable to obtain the securities or that the securities will decrease in value. Sometimes the risk that the government will be unable to obtain the securities can be attributed to the government’s willingness, for sake of convenience, to permit the broker-dealer or other financial institution either to hold the collateral securities itself or to pass them on to an agent who is not independent.

  9.
Market risk is the risk of changing prices. In the case of fixed income securities such as bonds, the market prices change mainly in response to increases or decreases in interest rates. Credit risk is the risk of the other party defaulting. Legal risk is that of the transaction being determined to be prohibited by law, regulation or contract. If a government acquires U.S. government bonds, the credit risk and the legal risks are most likely to be low (assuming that the purchaser is permitted to purchase long-term bonds). The market risk is substantial, however, inasmuch as the market value of long-term bonds is greatly affected by even small changes in prevailing interest rates.

10.
Derivatives are defined as securities whose value depends upon (is derived from) that of some underlying asset (such as a share of stock), a reference rate (such as a prevailing interest rate) or an index (such as the Standard & Poor’s index of stock prices). They embrace a wide range of securities, including ordinary stock options (such as puts and calls), debt instruments that are backed by pools of mortgages, and interest-only or principal-only “strips” (bond-like securities in which the obligations to pay principal and interest are traded separately). Most derivatives are highly volatile instruments, since their market price can be greatly affected by even small changes in the value of the underlying assets.
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EX 7-3

a.
Governmental fund entries
(1)

Expenditures—acquisitions of computers
$   40,000
Cash 

$   40,000
To record acquisition of computers

(2)

Expenditures—construction costs
$  245,000

Cash 

$  245,000

To record construction costs

(3)

Cash 
$   16,000

Other financing sources—sale of land

$   16,000

To record sale of land 

(4)

Expenditures—acquisition of vehicle 
$   39,000

Cash 

$     39,000

To record trade-in of old vehicle for new 
b.
Government-wide statement entries
(1)

Computers
$   40,000

Cash 

$   40,000

To record acquisition of computers

(2)

Construction in process
$  245,000

Cash 

$  245,000

To record construction costs

Buildings
$2,745,000

Construction in process

$2,745,000

To record completion of jail

(3)

Cash 
$   16,000

Loss on sale of land
     12,000

Land 

$   28,000

To record sale of land 

(4)

Vehicle—new 
$   52,000

Accumulated depreciation—old vehicle
     10,000

Loss on trade-in
       4,000

Cash 

$   39,000

Vehicle—old 

     27,000

To record trade-in of old vehicle for new 
EX 7-4

Journal entries

(1)

Building
$1,500,000

Bonds payable

$1,000,000

Cash 

 500,000

To record the construction of the building
(2)

Depreciation expense
$   50,000

Accumulated depreciation

$   50,000

To record depreciation for one year.  This entry would be repeated in each of the asset’s 10 years of useful life, for a total of $500,000.

(3)

Bonds payable
$  750,000

Cash 

$  750,000

To record the partial repayment of the bonds
(4)

Building
$3,000,000

Cash 

$3,000,000

To record the renovation of the building
(5)

Depreciation expense
$  160,000

Accumulated depreciation

$  160,000
To record depreciation for one year (the sum, divided by 25 years, of the undepreciated balance of $1,000,000 and the renovation costs of $3,000,000). This entry would be repeated in each year of the asset’s 25 years of useful life for a total of $4,000,000.

(6)

Bonds payable
$  250,000

Cash 

$  250,000
To record repayment of the bonds
(7)

Loss on retirement of building
$1,600,000

Accumulated depreciation
 2,900,000

Building

$4,500,000
To eliminate the building and accumulated depreciation and to recognize the loss on retirement (Accumulated depreciation equals $500,000 of depreciation on the original building plus $160,000 depreciation for 15 years) 
EX 7-5

1.
Journal entries
(1)

Construction costs—expenditures
$1,500,000

Cash 

$1,500,000

To record building construction costs
(2)

Depreciation is not recorded in governmental funds.

(3)

Expenditure—debt service
$  750,000

Cash 

$  750,000

To record repayment of bonds

(4)

Construction costs—expenditures
$3,000,000

Cash 

$3,000,000

To record building renovation costs
(5)

Depreciation is not recorded in governmental funds.

(6)

Expenditure—debt service
$  250,000

Cash 

$  250,000

To record repayment of bonds

(7)

The building was never recorded in a governmental fund; hence it cannot be removed from a governmental fund.
2.
Accounting control over the assets should be established by recording the assets in a ledger or “list” of some type. In the past, the general fixed asset account group served as this list. Now, however, GASB standards no longer address the form of this record, since it is not relevant for purposes of external reporting.

EX 7-6

1.
The amount to be capitalized should include all costs necessary to bring the asset to a serviceable condition. Thus:

Actual amount paid (list price less 10 percent discount)
$360,000

Transportation costs
  12,000

Customization costs
       4,000
      Total costs
$376,000
2.
Assets donated by outsiders should be stated at the fair market value at time of donation — hence, $1,900,000.

3.
In contrast to FASB standards pertaining to capitalization of interest, GASB standards prohibit capitalization of interest. Therefore the city should record the asset at $2,000,000.

Problems

Continuing Problem

1.
Per Note 7, Schedule of Capital Assets and Infrastructure for Governmental Activities, Austin increased its capital assets in governmental activities with $202.8 million (not taking into account depreciation). The decrease for the year was $110.1 million. (p. 58)

2.
Per the same schedule, the government charged $100.1 million in depreciation to governmental activities. (p. 58)

3.
Per Note 7, Austin has capitalized governmental infrastructure assets in accordance with GASB Statement No. 34.  Inasmuch as there is a substantial beginning balance in the account it is clear that it capitalized the infrastructure assets acquired prior to the implementation of GASB 34. (p. 58)

4.
As indicated in the schedule of capital asset activity in Note 7, the city did capitalize its collections of art, but did not depreciate them. (p. 58) Per Note 1, the true value of art works is expected to be maintained over time and, thus, not depreciated. (p. 44)

5.
Per Note 5, almost all of the city’s investments are in U.S. Government securities and investment pools maintained by the State of Texas.  One can generally assume that these investments are free of credit risk.  Unless they are short-term they are subject to interest rate risk (i.e., if interest rates increase, the value of the investments decreases. Term limits on individual maturities did not exceed the three-year threshold, and securities were under the 365 day threshold. (p. 52)

6.
Note 5 indicates that the city is authorized from Chapter 2256 of the Texas Government Code to enter into reverse repurchase agreements, although at year-end 2005 it had no outstanding balances related to such agreements. (p. 51) Austin Energy is exposed to a minimal amount of credit risk due to options and future contracts; however, because the brokerage firms have high credit ratings and standards, the City expects obligations to be met. (p. 88)
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1.

General fund

Capital expenditures
$24,777,538


Cash

$24,777,538

To record the acquisition of equipment and improvements

Cash 

$12,000,000



Proceeds from sale of equipment

$12,000,000

To record the sale of equipment

Government-wide statements

Equipment and improvements
$24,777,538


Cash

$24,777,538

To record the acquisition of equipment and improvements

Depreciation expense
$  12,690,135


Accumulated depreciation

$12,690,135

To record annual depreciation

Cash

$12,000,000

Accumulated depreciation
    4,380,320


Equipment and improvements

10,568,363


Gain on sale of equipment and improvements

  5,811,957

To record gain on sale of equipment and improvements

2.
Infrastructure represents 44 percent of total assets.  Among the reasons advanced for not reporting infrastructure assets are that they were difficult to value, they cannot be sold or stolen, they typically do not decline in value if properly maintained, and that the recorded values, based on historical cost, are not of interest to statement users.

3.  

Cash

$4,000,000

Accumulated depreciation
  5,000,000

Loss on sale
  3,000,000


Building

$10,000,000


Due to federal government

    2,000,000

To record the sale of the equipment

The government sold for $4 million a building with a book value of $5 million and had to recognize a loss of $3 million — a loss out of proportion to the book value and the sales proceeds.  Of course, the government must have recognized $5 million of grant revenue — all in one period -- when it first acquired the building.  An alternative means of accounting for the asset could be based on the assumption that, owing to the terms of the grant, the city, in substance, owns only 50 percent of the building; the federal government owns the balance.  Hence, the asset could be recorded in such a way as to reflect (net) only the city’s interest in the asset (perhaps by showing the total cost of the building in an asset account but reducing it by the federal government’s share, which would be reported in a related contra-account).  

4.
The land would be recorded at the same $500, an amount that is of no relevance for any decisions that statement users are likely to make.
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a.
Journal entries

(1)

Roads (infrastructure)
$60,000

Net capital assets (or “revenue—initial contribution”)

$60,000

(2)

Machinery and equipment
$   700

Cash 

$  700

To record acquisition of machinery and equipment

(3)

Building
$ 3,000

Bonds payable

$  3,000

To record construction in process and related bonds payable

(4)

Machinery and equipment (new)
$    45

Accumulated depreciation—machinery and equipment
      25

Cash 

$   20

Machinery and equipment (old)

     50

To record trade-in transaction  [The district realized an economic gain on the transaction of $15 — the $40 fair market of the old machinery and equipment at the time of trade less their book value of $25. However, in keeping with practice in the business sector the gain should not be recognized. Instead, the new machinery and equipment must be recorded at the book value of the old machinery and equipment plus the “boot” (cash paid) of $20.]

(5)

Cash 
$    70

Loss on sale of land
      20

Land 

$   90

To record sale of land

(6)

Land 
$  500

Donation of land (revenue)

$  500

To record donation of land (The cost of the land to the donor is irrelevant)

(7)

Road resurfacing costs (asset)
$ 1,200

Cash 

$ 1,200

To record improvement and maintenance of roads
(8)

Depreciation expense
$ 1,970

Accumulated depreciation—roads

$ 1,500

Accumulated depreciation—building

      100

Accumulated depreciation—machinery and equipment

        70

Accumulated depreciation—road resurfacing costs

      300

To record depreciation on roads, building, and machinery and equipment

b.
If the district used the modified approach, then it would have expensed the resurfacing costs as incurred; it would not have depreciated them.

c.
If, in fact, the roads have a useful life of 40 years, then the acquisition cost of the roads (in this case $60,000) should be recognized as an expense over the life of the roads. The roads, like other capital assets, are losing their service value over time.

d.
By contrast, if the maintenance costs are sufficient to preserve the roads in same condition as when they were acquired, then they have an infinite useful life. There would be no conceptual rationale for depreciating them. They do not lose their service value over time.
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a.
The earth moving equipment would be recorded at the fair market value at the time of the donation — hence, $530,000. By contrast, the motor vehicles would be recorded at the cost to the city — $400,000, less the accumulated depreciation of $220,000, net of $180,000.

b.
This question (at least that relating to the “donation” by the utility fund) is not addressed either in the text or directly by the GASB. In our recommended solution one asset is being recorded at market and the other at adjusted cost. However, both are being reflected at their value when first acquired by the city, not a particular fund. Prior to the issuance of Statement No. 34, there was a question of how to account for assets transferred from a proprietary fund (in which assets were stated at depreciated cost) to the general fixed asset account group (at which they were stated at cost without an adjustment for accumulated depreciation). Per Statement No. 34, the fixed asset account group is not presented in the financial statements and all assets, whether proprietary or governmental, are reported at depreciated cost. A transfer from one fund (proprietary) to another (governmental), made at the discretion of management, would hardly seem sufficiently significant to justify a change in the value of the transferred asset, especially on the government-wide statements, which consolidate all funds.

c.
Market values, but not historical values, are decision-relevant. Hence, at the time of transfer (but not thereafter), the value assigned to the equipment is more useful to statement users than that assigned to the motor vehicles.
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1.
If the useful life of the assets were 20 years, then one would anticipate that 1/20th or 5 percent of the assets would be retired each year.

2.
As of June 30, 2007, total assets, excluding land, were $25,066,771. Therefore, the percent retired was $265,795/$25,066,771 — .0106035 or 1.06035 percent.

3.
1/.0106035 = 125.2, suggesting an average useful life of 94.3 years.

4.
Assuming that all the deletions and transfers-out were mobile equipment, implies that the equipment has a useful life of 30.4 years:


$265,795/$8,073, 945 = .0329 or 3.29 percent


1/.0329 = 30.4 years (an inordinately long useful life for mobile equipment).

5.
Based on the data included in these financial statements, it does not appear as if the city was conscientiously removing capital assets from its financial records as they were taken out of service.

6.
Under Statement No. 34, governments have to depreciate their capital assets. Presumably, therefore, assets that have exceeded their useful life and are taken out of service would be fully depreciated. The overstatement of capital assets from failure to remove fully depreciated assets from the accounting records would be offset by a corresponding overstatement of accumulated depreciation.
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1.
A statement user might be concerned because in the last three years the county has spent less on its roads than is needed to maintain them in a specified condition.

2.
To avoid charging depreciation on its infrastructure assets, a government must preserve them at a specified level. It appears as if the county is failing to meet this condition.

3.
a.
If the city were required to charge depreciation, it would have no impact on its general fund. Depreciation is not recorded in general fund. Under both the modified and the depreciation approaches, the general fund would recognize as an expenditure the actual costs incurred in a particular year.


b.
The change would increase its government-wide expenses by the amount of the depreciation — $2.5 million per year. In addition, however, the change would affect the accounting for preservation costs. Under the modified approach the government would expense all preservation costs as incurred.  Under the standard approach it would now capitalize the preservation costs and depreciate them over their useful lives (e.g., the number of years between road repavings).  
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1.
In the reconciliation between total fund balance, governmental funds (per the funds statements) and net assets of governmental activities (per the government-wide statements), the net capital assets of $45,931,180 would have to be added to the governmental fund balance.  These assets are included in the government-wide balance sheet but excluded from that of the governmental funds.  In the reconciliation between net change in fund balance, governmental funds (per the funds statements) and change in net assets of governmental activities (per the government-wide statements) the capital outlays of $3,358,611 would have to be added back to the net change in fund balance.  This amount would have been recognized as an outlay in the governmental funds statements but not in the government-wide statements.  Correspondingly, the depreciation of $2,268,579 would have to be subtracted.  Depreciation is recognized as an expense in the government-wide statements, but not in the funds statements.

b.
It is not a coincidence that the two amounts are the same.  It indicates that the equipment that was retired was fully depreciated.   The amounts would be the same only if the retired equipment was fully depreciated.  

c.
Equipment costing $452,194 out of total equipment of $7,760,379 was retired during the year.  The retired equipment is approximately 6 percent of total equipment indicating a useful life of about 17 years (1/.06).  This would seem to be an unreasonably long useful life, suggesting either that the city has been expanding rapidly (and thus most of the equipment is relatively new) or that it has not been diligent about retiring equipment that is no longer in use.   
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1.
Capital projects fund
Cash 
$24,000,000

Other financing source—bond proceeds

$24,000,000

To record issuance of bonds
Expenditures—construction
$24,000,000

Cash 

$24,000,000

To record construction of school
2.
General fund
Debt service, principal—expenditure
$   800,000

Cash 

$   800,000

To record annual payment of debt principal
3.
The school is expected to last for 30 years and benefit taxpayers over that period. Therefore, the building should be paid for by the taxpayers of those 30 years, rather than by those of only some of those years. By repaying the debt evenly over the 30 years, the district assures that cost of the building is borne by the beneficiaries.

4.
The annual charge for depreciation on the government-wide (full accrual) financial statements would be the same ($800,000) as that for debt repayment on the general fund (modified accrual) statements. Thus, the amount of revenues required to balance the budget each year would also be the same, irrespective of whether the expenditures were measured on a modified or a full accrual basis. Obviously, however, if the pattern of repayment differed from the pattern of depreciation, then the annual charges would also differ.
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1.

Depreciation expense—highways
$4,000,000

Highway—accumulated depreciation

$4,000,000

To record depreciation on roads for 2007
2.
Unlike many other types of capital assets, highways do not have a readily determinable economic or physical life. Properly maintained, they can last “forever.”

3.

a.
Depreciation approach

Road Resurface (assets)
$1,000,000

Cash 

$1,000,000

To record (and capitalize) resurfacing costs

Depreciation expense—highway
$4,000,000

Highway—accumulated depreciation

$4,000,000

To depreciate highway
Depreciation expense—resurfacing costs
$  250,000

Road resurface—accumulated depreciation

$   250,000

To depreciate road resurfacing costs
b.
Modified approach

Road preservation expense
$1,000,000

Cash 

$1,000,000

To record resurfacing expense
4.
The new lane would be considered an improvement, rather than a maintenance cost.

Government-wide statements

Infrastructure assets—highways
$1,500,000

Cash 

$1,500,000

To record costs of improving the highway
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a.
The estimated initial cost of the park would be determined by multiplying the replacement cost by the ratio of the index value in 1993 to that in 2005. Thus:

$3,000,000 x 108/180 = $1,800,000.


The park is now 12 years into its useful life of 30 years. Hence, accumulated depreciation of $720,000 ($1,800,000 x 12/30) should be recognized. The net reported value of the park would therefore be $1,080,000.

b.
If the city satisfied the conditions to charge only maintenance costs and not depreciation, then the park would be reported at its initial value of $1,800,000.

c.
The depreciation charge would seem to be justified if, in fact, the park declines in utility and value with time. If, however, the park (like land) retains its usefulness as long as it is maintained, then the maintenance charge only would appear to be the preferred alternative.
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a.
Journal entries — government-wide statements
Even if the city opts not to capitalize the letter, it should nevertheless recognize contribution revenue and an offsetting expense.

Thus:

Historical documents received (a program expense)
$24,000

Contributions (revenue)

$24,000

To record the contribution of a historical document

It must, of course, record the paintings intended for sale as an asset:

Art work intended for sale (an asset)
$ 4,000

Contributions (revenue)

$ 4,000

To record the contribution of artwork intended for sale


Per GASB standards, governments need not capitalize their collectibles as long they will hold them for public exhibition and the collectibles are subject to an organizational policy that any proceeds from sale will be used to acquire other collectibles.

b.
It would not matter whether the city acquired the assets by purchase or donation. The GASB capitalization policy is the same.

c.
Yes, if art is subject to a policy that if sold the proceeds will be used to acquire other collectibles then it need not be capitalized.

d.
The building, furniture and fixtures would be valued at cost less accumulated depreciation — $5 million, since the assets were 50 percent depreciated. Assuming the GASB criteria “(i.e. that there is a policy that if sold the proceeds will be used to acquire other collectibles) are met, the museum could opt not to capitalize the art collection and hence could state it at zero. Clearly the art collection has value and that value is of interest to users. Nevertheless, the GASB policy can be justified in that

· art is notoriously difficult to value and

· art lacks the characteristics of conventional assets in that it does not generate free cash. GASB policy requires that collectibles need not be capitalized only if when the art is sold the proceeds can be used exclusively to acquire other works of art.
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1. The city limits the maturity dates of its investments because the longer the maturity, the greater the interest rate risk.  That, is the market price of longer-term bonds is far more subject to fluctuations in interest rates than is that of shorter- term bonds.  

2. The city indicates that maturity of the local government investment pool is only one day because the city can withdraw its funds from the pool without giving any prior notice.  

3. Credit risk is the risk that the borrow will default on either interest or principal payments.  The city’s investment in the U.S. government securities (both treasury and agency) are as safe as any securities; as indicated by the AAA rating, a default by the U.S. government is highly improbable.  
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1.


Present value of $1 billion principal to be received in 20 
periods, discounted at 4 percent ($1 billion times .4564)
$.4564


Present value of $.03 billion interest to be received each 
period for 20 periods, discounted at 4 percent 
($.03 billion times 13.590.)
  .4077

Total present value of expected payments
$.8641

The $1 billion in bonds would have an expected market value of only $864.1 million.

2.

a.
Total interest received would be 6 percent of $2 billion (.12 billion) less interest of 4 percent of $1 billion ($.04 billion) — $.08 billion. Thus, the overall return on the initial $1 billion would be 8 percent — considerably higher than the long-term rate of only 6 percent and indicating that the pool successfully leveraged its investments.

b.
If long-term yields were to increase to 8 percent then the market value of the pool would be:

Value of bonds ($.8641 as computed above times 2)
$1.7282

Less: Amount borrowed
  1.0000
Net value
$0.7282
c.
In essence the assurances of the county officials are valid. The market values are irrelevant if the securities are held to maturity (except as an indication of the opportunity cost of having gotten locked into low interest bonds). As long as participant withdrawals remain at historical levels and the pool has sufficient funds available to meet the withdrawals there is no compelling reason for the participants to withdraw funds.


A key risk to participants, however, is that as the value of the long-term bonds decreases, the collateral to support the short-term loans is worth less and the lenders will either refuse to renew their loans or demand more collateral. Therefore, the pool may have to sell a substantial portion of its long-term bonds to repay the short-term loans. The total losses to the portfolio — and thus to the individual participants — will now become realized as opposed to unrealized losses.


Further, even if the participants stay in the pool, the prospects for future earnings are dim. The pool is able to earn only 6 percent interest on its long-term bonds, but is required to pay 7 percent when it rolls over (i.e., renews) its short-term borrowings. The pool can avoid this ongoing loss only by selling the long-term bonds and taking a loss on sale — thereby undermining its strategy of holding the bonds until maturity.

d. If individual participants were to withdraw from the pool the impact would be the equivalent of a run on a bank. As suggested above, to accommodate participant demands on funds, the pool would have to sell the bonds in its portfolio, thereby converting even more unrealized losses to realized losses. Further, whenever a major investor, such as an investment pool, is forced to liquidate securities in a hurry, there is the danger than prices would be even lower than they would be otherwise.
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1. Impairment loss

 Historical cost of school

 $30,000,000 

 Accumulated Depreciation 

     6,000,000 

 Carrying value before impairment

 $24,000,000 
 Restoration cost 

  $ 4,000,000 

 Original cost 
$30,000,000 


 Replacement cost 
 40,000,000 


 Deflation ratio 

       x   75.0%
   Deflated restoration cost 
  
   $ 3,000,000 

 % of historical cost impaired 

             10.0%
 Impairment loss 

    $ 2,400,000 

2.   New carrying value

 Carrying  value before impairment

     $24,000,000 

 Impairment loss 

         2,400,000 

 Adjusted carrying value 

     $21,600,000 

 Restoration 

         4,000,000 

 Carrying value after restoration

     $25,600,000 

3.   Net gain in carrying value 

Carrying value after restoration                                                                $25,600,000

Carrying value before impairment                                                              24,000,000 

     Net gain







   


     $  1,600,000
Or 

Insurance recovery                                                                                    $4,000,000

Impairment loss                                                                                           2,400,000
      Net gain







                               $1,600,000
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1. Impairment loss

 Historical cost of equipment

 $600,000 

 Accumulated Depreciation 

   180,000  

 Carrying value before impairment

 $420,000 
Acquisition cost

    $600,000 

Original estimate of service units per year
 3,000 


Estimated useful life in years
 x   10 


Original estimate of total service units

      ( 30,000 

      Original estimate of cost per service unit

      $   20.00 

New estimate of service units per year
 500

Remaining useful life in years
x    7 


New estimate of total remaining service units

        x  3,500 

Remaining service units times cost per unit

        $70,000 

Carrying value of asset

       $420,000 

Remaining service units times cost per unit (new carrying value)

           70,000 

    Impairment loss

       $350,000 

2.   New carrying value

 Carrying  value before impairment

     $420,000 

 Impairment loss 

        350,000 

     New carrying value 

     $ 70,000 
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1. Impairment loss

 Historical cost of theatre

 $20,000,000 

 Accumulated depreciation 

   12,000,000  

 Carrying value before impairment

  $ 8,000,000 
Replacement cost of study hall  

     $3,000,000  

Percent assumed to have been used to date 

      x    60.00%

 Accumulated depreciation 

     $1,800,000 

 Depreciated replacement cost of study all 

     $1,200,000 

 Commercial construction index at date of theatre construction 
      40 


 Commercial construction index at date of impairment 
               (  120


 Deflation factor 

                   x   0.3333 

     Deflated depreciated replacement cost of theatre (new 

          carrying value)

                  $  400,000 

Carrying value theatre before impairment 
         $8,000,000 

Deflated replacement cost of new study hall
               400,000 

     Impairment loss
      $7,600,000   
2.  Carrying value of theatre before impairment
$8,000,000

     Impairment loss
         7,600,000
        Carrying value of study hall
   $  400,000
Questions for Research, Analysis and Discussion

1. There is no clear-cut answer to this question.  Question 2.66 of the GASB Comprehensive Implementation Guide pertains to cash flows.  It states, in part,  “there is no requirement to separate the cash flows with discretely presented component units from those involving external parties,” thereby implying that transactions with component units should be accounted for the same as those with other external parties.  If so, then the state agency should state the building at the price paid for it.   However, GASB 34, paragraph 128 indicates that “the notes to the financial statements should disclose, for each major component unit, the nature and amount of significant transactions with the primary government and other component units.”

2. Per GASB Statement No. 34, paragraph 19:

Infrastructure assets are long-lived capital assets that normally are stationary in nature and normally can be preserved for a significantly greater number of years than most capital assets. Examples of infrastructure assets include roads, bridges, tunnels, drainage systems, water and sewer systems, dams, and lighting systems.


Parks would seem consistent with that definition and hence would be classified as infrastructure.    


Question 7.58 of the GASB Comprehensive Implementation Guide distinguishes between a network and a subsystem:

A network is composed of all assets that provide a particular type of service for a government. A subsystem is composed of all assets that make up a portion or segment of a network.


Based on these definitions, the elements that make-up a park would be considered a network and consistent with GASB 34, paragraph 23 could be accounted for collectively. GASB 34, paragraph 23 permits the assets that are part of a network to be considered collectively when a government is assessing whether they are eligible for “modified approach” accounting.
3. Paragraph 18 of GASB Statement No. 34 states explicitly that “capital assets should be reported at historical cost,” and that “donated capital assets should be reported at their estimated fair value at the time of acquisition plus ancillary charges, if any.”

4. Question 7.105 of the GASB Comprehensive Implementation Guide makes clear that valuable plants (the holdings of botanical gardens) should be considered “collectibles:”

“Collections,” as used in Statement 34, generally has the same meaning as in FASB Statement No. 116, Accounting for Contributions Received and Contributions Made. As used in that Statement, collections “generally are held by museums, botanical gardens, libraries, aquariums, arboretums, historic sites, planetariums, zoos, art galleries, nature, science and technology centers, and similar educational, research, and public service organizations that have those divisions; however, the definition is not limited to those entities nor does it apply to all items held by those entities” (paragraph 128).
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